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New system i.e. Question Paper Cum Answer Booklet (QPAB) will be introduced in the
coming Term End Examination. To get the candidates acquainted with the new system,
now assignment answer is to be given in the specific space according to the instructions.

Detail schedule for submission of assignment for the
BDP Term End Examination December-2019 & June-2020

1. Date of Publication : 14/02/2020

2. Last date of Submission of answer script by the student to the study :07/03/2020
centre

3. Last date of Submission of marks by the examiner to the study centre : 08/04 /2020

4. Date of evaluated answer scripts distribution by the study centre to

the students (Students are advised to check their assignment marks
on the evaluated answer scripts and marks lists in the study centre
notice board. If there is any mismatch / any other problems of marks
obtained and marks in the list, the students should report to their
study centre Co-ordinator on spot for correction. The study centre is
advised to send the corrected marks, if any, to the COE office within
five days. No change / correction of assignment marks will be

accepted after the said five days. :18/04/2020
S. Last date of submission of marks by the study centre to the
Department of C.O.E. on or before :20/04 /2020
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Answer any two questions :
n/2

1. a @ TNeER @& AR Isinxdx a7 W el 5 |

n/2
Using the definition of definite integral as limit of a sum, evaluate J.sinxdx .
0
b) W el e J-4x—+1dx.
+x“+1
Evaluate : j‘f—-l_ldx.
+x+1
lim 1 1 1 1
o) WA ey T +oF :
) ”_’w\/_[\/rw yn+2 JQn}
3+3+4
lim 1 1 1 1
Evaluate : +...+ .
”_)"O\/_[er Jn+2 \/Qn}
2. W T T
Evaluate :
J’ dx
a) —_
\/x2—2x+1
b) J‘ dx
x(ax™ +b)
T
o) j' dx  O<a<l. 3+3+4
0 1-2acosx+a
/2
3. a) AN PP Isin3x0055xdx=gi4.
0
n/2
Prove that J.sin3 xcos® xdx = 2%
0
b) WWWW@ > xsiznxcoszxdxz s=——5——, a,b>0.
o (a” cos x4+ b“ sin“ x) 4ab“(a + b)
i d
Assuming the convergence, show thatj‘ xs12nxc032x ad 27: ,
0 (a cos? x + b sin? x) 4ab (a+b)

a,b>0.
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1+ x%sin? x 1+ x2sin? x
o0
Show that j' dx 5 is convergent but J. dx is not convergent.
1+x%sin? x 1+ x? sin? x
4. a) YT PP xcosxi—x+(xsinx+cosx)y =1. 5
dy .
Solve : xcosxa+(xsmx+cosx)y=1.
b) N e e J'_[ sinn(x2 + y2)dxdy, @I E={(xy)eR>: x2+y2=1}. 5
E
Evaluate : H sinn(x2 +y2)dxdy, where E={(x,y)e1R2 x2 +y2 =11

E
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Answer any three questions :
n
5., = [0 =0T e T
Vax? + bx+c
(n+l)au, +%(2n+1)bun +ncu, ;= x”‘/ ax™ +bx+c .
n
Ifu, = j‘x—dx, then prove that
Vax? + bx+c
(n+1)au, +%(2n+1)bun +ncu, ;= x™My ax™ +bx+c .
2 2 2
6. x3+y3 =a3 a3 GPIGARC (Asteroid) -7 A [Fefx T2 |
2 2 2
Find the length of perimeter of the asteroid x3 +y3 =a3.
x2 y2 22
2t 272
7. AT PP (F, j-”e a® b% c¢” dxdydz = 4nabc(e-2) ,
E
2 22
A E={(x,y,2z)e R x—2+y—2+z—25 1%
a b c
x> y2 z2
SRR
Prove that ”I eVa” b™ c”dxdydz = 4nabc(e-2) ,
E
2 2 2
where E ={(x,y,z) € R x—2+y—2+z—2s 1}.
a b c
dx—xd
8. oW T @, j%=—2n, @AEC = {(x,y): x2 +y2 =1}, ARLE (&N &, <
c X“+y
@ W@ @ @I S @ RS AT @R T R | 3+3
dx-xd
Prove that I Yoo xey —2n, where C = {(x,y): x2 +y2 =1}.
2 2
c X“+y
Also show that the above integral takes the same value on any closed curve around zero.
9. y=px+yaZp?+b?, (p =3—)yc] @3 P FAFIEF LR TG 8 singular TG e
P | 2+4
Find the general solution and singular solution of the differential equation
y= px+\/a2p2 + b2 , where [p:j—i].
10. TR0 ST @ e TG AT F (D2 — 4D + 4)y = 8x2e?F sin2x . 4+2
Find particular integral and general solution of (D2 —-4D+4)y = 8x2e?* sin2x .
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Answer any four questions :

11. ST 6 2dy+2xd—y—20y—(x+1)

12 dx
2
Solve : x2d—g+2x%—20y=(x+l)2.
dx

2
12.  25eT (S ATSCS AT T : d—g+4y=4tan2x.
dx
2

d g+4y=4tan2x.
dx

Solve by the method of variation of parameters,

2
13. FAT 5ETF SARTOET BIF ANLE el T xd—g—i—z+4x3y=x5.
dx
d’y dy 5
Solve by the method of changing independent variable : X—o-a T 453 y=x".
dx
1
14. M = jx” tan™! xdx 2, OF oW I @ (n+1)u, +(n—-1)u

0
1

-1
If u, =Ixn tan™ " xdx, then prove that (n+1)u, +(n-1)u,_, =
0

n_1
2 n’

15. x=a(2cost+cos2t), y=a(sint+sin2t) QI ST CFad CFaeaT [ofd e |
Find the area enclosed by x =a(2cost+cos2t), y=a(sint+sin2t).

16. cwanﬂarj' ——"  (a>h).
a+bcosx 2 2
a“-b
b).
Showthatja+bcosx — (a>b)
00
2
17. O @, J'S‘x dx=%.
og

[e 0}
2
Show that IS_X dx = L
0 2,/ log5

18. TS T J'

s1nx+tanx'

dx

Integrate : J.—
sin x + tan x
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